10.

Sample Paper Class — IV
Mathematical and Logical Ability
Which of the following is the place value of the underlined digit of the number 35792 3 -

(a) 7 (b) 7000 (c) 700 (d) 70000

Estimate the sum of 1462 + 2963 by rounding off each to the nearest thousand —

(a) 4425 (b)4111 (c) 4221 (d) 4000
Multiply —

9187 x 7=

(a) 64509 (b) 64310 (c) 65609 (d) 64309

Find the quotient and remainder of the following —
5) 5263 (
(a)Q=1053,R=1 (b)Q=1059,R=3 (c)Q=1061,R=5 (d)Q=1052,R=3

Which one of the following is a unit fraction —

4 1 2 3
a b) = - 42
(@ 3 OF ©° @
95 litres 37 millilitres is equal to millilitres.
(a) 95390ml (b) 95380ml (c) 95370ml (d) 95037ml

Weight of Amit is 27 kg 800 gm and the weight of Anubhav is 32 kg 800 gm. Whose
weight is more and by how much?

(a) Anubhav, 5 kg_ " (b) Anubhav, 6 kg (c) Amit, 5 kg (d) Amit, 6 kg

Ajay takes 750ml of cold drink from a bottle containing 1L 500ml of cold drink. How much
cold drink is leftin the bottle?

(a) 560 ml (b) 650 ml (c) 750 ml (d) 850 ml
Convert 8 hours 15 minutes into minutes —

(a) 895 minutes (b) 695 minutes (¢) 595 minutes (d) 495 minutes
In which 2-D figure, only opposite sides are equal —

(a) Rectangle (b) Circle (c) Kite (d) None of these





